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Paper / Subject Code: 97220 / Economics : Industrial and Labour Economices I (R 2022)
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[Time: 2 Hours] [Total Marks: 80]
Please check whether you have got the right question paper.

N. B. 1) All the questions are compulsory.
2) Figures to the right indicate full marks.

Q. 1. Attempt any two of the following: 20
A) Give the various problems of Public Sector in India.
B) Explain the role of agriculture in industrial development.
C) Give the different types of motives of Merger.

Q. 2. Attempt any two of the following; 20
A) Discuss the factors affecting of Industrial Location.
B) Explain the theory of Sergeant Florence of industrial location.
C) Discuss the various causes of the regional imbalance.

Q. 3. Attempt any two of the following: 20
A) Explain the measurement methods of Industrial productivity.
B) Discuss the factors affecting Industrial Productivity.

C) Explain the concept and impact of Rationalization.
Q. 4. Attempt any two of the following: 20
A) Discuss on disinvestment policy in India.

B) Explain the role of MNC’s in developing countries.
C) State short notes on industrial finance in India.
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